L Croanc's - faat ded is that of:
A. Brahmaputa B. Nile
C. Amazon D, Mississtppi

Z. Why iz sca warer more sully than rain water?
" Al sea andinals ure salt producing
B. there are salt Beds in the acean
. ke air around sca is salty

B sah from the land are washed down to the
Leq by the rivers

L ln which of e following deltaa the
Narimanam o] fickd is lucated?

A Codavnt B. riskns

C. Kaveri L. Mahangdi
4. il kag struck in the basin of;

A, Godavr B. Krishng

C. Mahanagdi . Mone of the ghove
5. Minute paricle tn Barth’s crust are;

A sang B, rocks

Cosit D gravel

6. Which of the fulluwing tx India's firs: gco-
statianary sabellite?

A Apple B. INSAT.R
C. Aryabhapg D. Rohini
7. Which of the follewing is used [

engine?
(17 eylinder {ii} piston (iii]
Ao (i) and i) aniy
B. (i) and (i) only
C. A%l (13, Gi) anchiiii)

ETAE]

ing plsg

11.

B. Hydro electricity
C. Thermal energy
I Geothernul Energy

‘9, Mirmge it formed dua e

A, taflection

E. refraction

C. totaf inlernal reflection

D. change in refractive index of alawi
chunge in temperatura

10. A free-floating astronaut * ; agmhur
free-Aoating astronayt IGace, The inuss
of Pis greater than thef of B, - ree exerhed

by astronaul P on asn will be:

A, equatk to ze

B. equal: ricd by G on P

C. greate®hon thelrces cacried by Qeon P

furce exerted by () on P

o which iz able to fix nitrogen
kirawn as;

g lepume
Fiee 0. tober

hich of the following chemicais in automa-
hites exhaust can cause cance:?

A, lead

B. oxides of nilrogen

C. pulycyclic hydrocarbong
. carllhan monoxids

13, The differsnt blood 2roupy were diseoversd

by

A, Jonas Salk

B. Akxander Flemming
€. Kart Handsteiner

Dn Wilkam Hasvey



1d. The rich source of vilamin A of the following
5

A, onion E. careot
C. lamen Tl putato
13. Seyabeam contain high depree of:
A, peaceins
B, vilamina
. nutri::gta
D. earhohydrates
6. I organic life did not axist the oxXyLen contant
in the atmosphere would have:
A, incrensed
B, decreased
C. rematned the same
0. converted to some other
17, Washing soda in water behaves like:
A alkaline B. acidic
. mewirs] . amphoteric
18. The radius of an atomic micicus s of U order

of

A, 10719 gm
B 10-%cm
C. 0% ¢m
D 1r'%em

19, An example of nprically active

A. PHNH,CI

B. [PYNHYCIBeI}
C. AsSCH,CH,
0. PUNH)LCI
af

2, Passing

indicale

ona
prolins

. Ugkeus .

is extra-ordinary hollow having a lot
of emply space inside

21, Which among the following 5 curves tepresant

cxam since (9857

Yk

In  thaursands

1 | I
1985 1387 1989 1851
A A

f A is & squarz walrix, then A + AT will ke
transposc:

A diagonal

C. skew-symmetric

B. symmetrie
L. identity matpix

24. A copper bor measuring [ m long, 2 cin wide
and 1 em thick i rolled into o strip measuring
0 cm wide and T mm thick. Whal is the length

of the sivip 50 rafled?

A. 150 em B. HDcom
C. Al cm 0 450 cm

I8, felcol the odd figure which does nor mansh
with series:

T T



26 A roggle operation is used:

7.

A with a fiip-flops and a gatc circult
B. wilh a Alp-fiop

C. without a thip-flop

D, with a gate circuit

In computer ALL 15 patt of:

2. Scratch pad memory is used -
A sippont maln programme

B. store small amounts of infarmation thal
can be fetched whan needed

L. store redundant data
B, store flextabic duta

-6 The ialic maps are designed to communic

aic
geographic cimcenls like:
A. relative magnitude
B. distribution of densitics

C. spatial relationship L 2
B, all of the above

ANSWERS

A. inputioutpu B. luyid
-2 CPU L. seftware

ALGOL resembles:

A, COBOL R. HASIC

C. FORTRAN 12 all of the ghove
1 2 3 4 ]
D B { A T
11 12 13 14 15
C ] C B A
21 x 23 2 25
v n B B i

6 &
B A
17 20
C D
24 n
E 0
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